Célculo mental /v\N/v\Y/v\

Nombre y apellidos:
12

Fecha: Matematicas 2.°

Restar decenas completas a nimeros de tres cifras

8/4 - 20 =854

114 -10 = 422 - 20 = 333-30 =
228 - 10 = 335-20 = 941 - 30 =
336-10 = 244 — 20 = 552-30 =
449 —10 = 957 - 20 = 864 — 30 =
552-10 = 866 — 20 = 476 - 30 =
667 - 10 = 771 =20 = /85-30 =
/73 -10 = 583 _ 20 = 699 — 30 =
885-10 = 692 — 20 = 388 — 30 =
991 -10 = 258 — 20 = 972 -30 =
525-10 = 278 — 20 = 360 - 30 =

Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

Nombre y apellidos:
12

Fecha: Matematicas 2.°

Restar decenas completas a nimeros de tres cifras

8/4 - 20 =854
141 -40 = 157 =50 = 267 — 60 =
259 - 40 = 366 - 50 = 471 -60 =
362 -40 = 572 -50 = 684 — 60 =
474 — 40 = 784 - 50 = 893 - 60 =
586 - 40 = 995 -50 = 988 — 60 =
695-40 = 888 — 50 = 779 — 60 =
/87 —40 = 679 — 50 = 565 - 60 =
878 —40 = 4671 — 50 = 376 - 60 =
963 - 40 = 253 — 50 = 182 - 60 =
550-40 = 175 - 50 = 492 — 60 =
Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

Nombre y apellidos:
12

Fecha: Matematicas 2.°

Restar decenas completas a nimeros de tres cifras

8/4 - 20 =854
971-70 = 181 -80 = 999 — 90 =
885-70 = 293 -80 = 898 — 90 =
792 -70 = 385-80 = 795-90 =
687 —70 = 494 — 80 = 697 — 90 =
573-70 = 586 — 80 = 599 - 90 =
486 -70 = 697 — 80 = 494 — 90 =
394 -70 = 783 - 80 = 391 -90 =
289 -70 = 896 — 80 = 298 - 90 =
178 =70 = 987 — 80 = 192 -90 =
488 — 70 = 697 — 80 = 590 -90 =
Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

Nombre y apellidos:
12

Fecha: Matematicas 2.°

Restar decenas completas a nimeros de tres cifras

8/4 - 20 =854
523-20 = 171-10= 965 - 50 =
491 -40 = 393-90 = 894 — 90 =
364 - 60 = 535-20 = 741 -10 =
297 - 80 = 787 - 80 = 666 — 40 =
116 -10 = 948 — 30 = 577 -20 =
958 - 30 = 889 — 70 = 498 - 80 =
879 -50 = 676 — 40 = 399 -30 =
/85-70= Abd — 60 = 262 - 60 =
692 - 90 = 252 _ 50 = 193-70 =
590 -90 = 360 — 60 = 110-10 =
Aciertos: Aciertos: Aciertos:




